1. [bookmark: _GoBack] A 5.0kg piece of Asbestos at 85 degrees Celsius is placed in 5.0 liters (5 Kg) of water at 33 degrees Celsius. Determine the final temperature (Tf). Make sure to list all known values.
2. A 57.0kg piece of Lead at 85 degrees Celsius is placed in 7.0 liters (7 Kg) of water at 43 degrees Celsius. Determine the final temperature (Tf). Make sure to list all known values.
3. A 4.0kg piece of Mercury at 65 degrees Celsius is placed in 3.0 liters (3 Kg) of water at 64 degrees Celsius. Determine the final temperature (Tf). Make sure to list all known values.
4. A 12.0kg piece of Gold at 55 degrees Celsius is placed in 9.0 liters (9 Kg) of water at 65 degrees Celsius. Determine the final temperature (Tf). Make sure to list all known values.
5. A 15.0kg piece of Silver at 45 degrees Celsius is placed in 8.0 liters (8 Kg) of water at 37 degrees Celsius. Determine the final temperature (Tf). Make sure to list all known values.
6. A 25.0kg piece of Concrete at 82 degrees Celsius is placed in 3.0 liters (3 Kg) of water at 93 degrees Celsius. Determine the final temperature (Tf). Make sure to list all known values.
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Substances Specific heat (c)
Solids ThgC | kealkg-oC?
Aluminum 900 0215
Asbestos 800 0.19
Concrete, granite (average) |40 020
Copper 387 0.0924
Glass 840 020
Gold 129 0.0308
‘Human body (average at 37 °C) | 3500 0583
Ice (average, -50°C 0 0°C) {2090 0.50
Tron, steel 452 0.108
Lead 128 0.0305
Silver 235 0.0562
Wood 1700 04
Liquids
Benzene 1740 0415
Ethancl 250 0586
Glycerin 2410 0576
Mercury 139 0.0333
Water (150 °C) 4186 1.000
aesd
Air (dry) 721(1015) [0.172(0.242)
Ammonia 1670 (2190) 0,399 (0.523)
Carbon dioxide 638 (833) [0.152(0.199)
Nitrogen 739 (1040) |0.177 (0.248)
Oxygen 6510913)  |0.156 (0218)
Steam (100°C) 1520 (2020) | 0.363 (0.482)





